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8248141 H 30 Rft pegis 827041 H 40 AR FHE
8249141 H 20 %ft Byt 827141 H 30 %Ak =
825041 H 20 7% fR PR 8272%1 H 20 kAR Tt
825141 H 30 kAR B 8273%1 H 30 kAR Tt
8252141 H 30 Rft Byt 8274441 H 60 At =
8253141 H 30 mRft pegis 827541 H 10 AR =
8254141 H 10 s AT Bt 8276141 H 80 kAt FHE
8255451 B 30 mkft Bk 82774 B 50 mEft Bk
8256141 H 40 AR pegis 8278141 H 10 AT Qi
825711 H 50 ik ft pegis 827911 H 30 AR =
825851 H 60 mkft Bk 82803 H 40 AR Bk
8259141 H 20 %ft pegis 828141 H 10 AT FHE
8260141 H 10 AR Byt 8282141 H 10 AT FHE
8261141 H 30 mRft Byt 8283141 H 10 AT FHE
8262141 H 10 AR pegis 8284451 H 30 %Ak FHE
8263141 H 20 %fX Byt 8285141 H 30 %Ak =
8264141 H 40 AR pegis 8286141 H 20 AR =
826541 B 30 mkft Bk 82874 B 20 mEfR Bk
8266141 H 10 A LR 8288141 H 40 AR =
8267141 H 10 s A Byt 8289141 H 30 %Ak FHE
8268141 H 40 AR Byt 8290141 H 10 AR =
82691 B 20 mkft Bk 82914 B 70 pEfR Bk
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8292141 H 70 mRfX pegis 832541 H 40 AR FHE
8293441 H 20 %ft pegis 8326151 H 20 At =
8294441 H 70 AR Byt 832741 H 30 %Ak =
829541 H 40 AR pegis 832814 H 30 %Ak FHE
8296141 H 10 AR pegis 832941 H 10 AR =
829741 H 10 AR pegis 8330141 H 20 AR =
829851 B 40 mEft Bk 83314 B 30 mEft Bk
829931 B 40 mEft Bk 833243 B 60 it Bk
8300141 H 10 A LR 8333441 H 10 AR FHE
8301141 H 60 %ft pegis 8334441 H 10 AT FHE
8302141 H 10 A Byt 833541 H 60 At =
8303141 H 80 kAt pegis 8336441 H 50 % fR FHE
830451 B 80 mift Bk 83374 B 30 mEft Bk
8305141 H 80 At pegis 8338141 H 30 %Ak B
830651 B 80 mift Bk 833943 B 20 AR Bk
830741 H 60 kft pegis 834041 H 10 AR FHE
8308141 H 20 %fX pegis 834141 H 30 AR FHE
830941 H 20 %ft pegis 8342151 H 20 At FHE
83101 H 30 mkft pegis 8343441 H 40 AR B
831141 H 80 kAt pegis 8344451 H 10 AT Qi
831241 B 70 mEAt Bk 83454 B 30 meft Bk
8313441 H 80 At Byt 8346441 H 40 AR =
8314441 H 20 Rft pegis 834741 H 30 %Ak FHE
831541 B 60 mkft Bk 83483 B 90 At Bk
8316441 H 20 %fX pegis 834941 H 20 AR =
831741 H 80 At pegis 8350141 H 30 %Ak FHE
83181 B 30 mkft Bk 83514 B 10 %A Bk
831941 H 40 AR Byt 8352141 H 20 At =
8320141 H 20 %ft pegis 8353141 H 20 AR =
8321441 H 20 Rft B 8354451 H 10 AT QL
832251 B 30 mkft Bk 83554 B 20 AR Bk
8323141 H 80 kAt pegis 8356141 H 10 AR FHE
8324141 H 50 kft pegis 835741 H 20 AR FHE
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8358141 H 20 %fX pegis 8391441 H 30 AR =
8359141 H 50 ikft Bt 8392141 H 10 AT Qi
8360141 H 30 mkft Byt 839344 H 60 At =
8361141 H 30 mRft pegis 839445 H 20 AR =
8362141 H 40 AR pegis 839544 H 10 AR FHE
8363141 H 70 mRfX pegis 8396441 H 80 kAt B
8364141 H 40 AR pegis 839741 H 50 % fR =
836541 H 50 ik ft pegis 839844 H 10 AR =
8366141 H 50 kft pegis 839944 H 10 AT QL
83671 H 20 %ft pegis 8400141 H 40 AR =
83681 H 10 %A% PR 840141 H 50 AR Tt
836941 H 40 AR B 8402%1 H 20 %R 7
837041 H 20 %fX pegis 8403141 H 50 7% fR B
837141 B 40 mEft Bk 840451 B 60 it Bk
837241 H 60 kft Byt 840541 H 50 % fR =
83731 B 60 mkft Bk 8406/ B 10 %A Bk
837441 H 50 kft pegis 84071 H 50 7% fR B
837541 H 30 Rft pegis 8408141 H 30 %Ak FHE
8376141 H 40 AR pegis 840941 H 30 AR =
837741 B 40 mEft Bk 8410 B 30 mEft Bk
8378141 H 30 Rft pegis 841141 H 60 At FHE
8379%1 H 10 %A% PR 8412%1 H 70 AR Tt
8380141 H 40 AR Byt 841341 H 40 AR =
8381141 H 40 AR pegis 8414451 H 10 AT Qi
838231 H 30 mkft Bk 84154 B 50 mEft Bk
8383441 H 10 AR pegis 8416441 H 60 At FHE
8384141 H 10 AR pegis 841741 H 60 At FHE
8385441 H 60 kft Byt 8418441 H 50 % fR =
8386141 H 20 %ft pegis 841941 H 10 AT QL
8387141 H 30 Rft pegis 8420141 H 20 AR FHE
838814 H 10 s A Byt 842141 H 10 AT FHE
8389141 H 50 kft pegis 8422141 H 20 AR =
8390141 H 50 kft pegis 8423141 H 20 AR FHE
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84241 B 20 mkft Bk 84574 B 30 mEft Bk
842541 B 20 mkft Bk 84585 H 60 it Bk
8426151 B 20 mkft Bk 84594 B 80 At Bk
842711 H 40 AR pegis 8460141 H 20 AR FHE
8428141 H 30 kft pegis 8461141 H 30 %Ak FHE
8429141 H 10 A Byt 8462141 H 70 AR B
8430141 H 20 %ft pegis 8463141 H 10 AT FHE
843141 H 10 AR pegis 8464151 H 10 AT Qi
8432141 H 60 kft Byt 846541 H 10 AR =
8433141 H 10 AR pegis 8466141 H 10 AR =
843441 H 10 A LR 846711 H 50 7% fR =
843541 H 10 AR pegis 8468141 H 10 AT Qi
8436141 H 80 At pegis 8469141 H 80 kAt =
84371 B 30 mkft Bk 84704 B 30 mEft Bk
8438%1 H 70 AR g 8471%1 H 80 sk ft Tt
843941 H 60 kft pegis 8472141 H 10 AT FHE
8440141 H 10 AR pegis 8473141 H 50 % fR =
844141 H 20 %ft Bk 8474441 H 40 AR =
8442141 H 50 ikft Byt 847541 H 50 7% fR =
8443141 H 80 kAt pegis 8476141 H 20 AR =
8444151 H 80 kAt pegis 847711 H 80 kAt =
844541 H 80 At pegis 8478141 H 60 At =
8446141 H 60 kft pegis 84791 H 30 %Ak =
844711 H 10 AR pegis 8480141 H 30 %Ak =
8448141 H 10 A Byt 848141 H 10 AT Qi
8449141 H 50 ik ft pegis 8482141 H 10 AR =
8450141 H 50 ikft pegis 8483141 H 10 AR B
8451141 H 20 Rft Byt 8484451 H 30 AR =
8452141 H 40 AR Byt 8485141 H 80 kAt =
8453141 H 10 AR B 8486141 H 40 AR =
8454141 H 50 ik ft pegis 8487141 H 60 At =
845541 H 40 AR pegis 8488141 H 40 AR =
8456141 H 50 kft pegis 8489141 H 10 AR FHE
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8490141 H 10 AR Byt 8523141 H 10 AR =
849141 H 20 %ft pegis 8524151 H 40 AR FHE
8492141 H 60 %ft Byt 852541 H 40 AR =
8493441 H 10 AR pegis 8526151 H 50 % fR =
8494141 H 50 ikft Byt 852711 H 10 AT FHE
849541 B 80 mift Bk 85285 H 20 mEfR Bk
8496141 H 30 kft Bk 852941 H 10 kAR =
849711 B 30 mkft Bk 85303 B 10 %A Bk
8498141 H 20 %fX Byt 8531441 H 10 AT QL
849941 H 80 At pegis 8532141 H 10 AR =
8500141 H 50 ikft Byt 8533141 H 20 AR =
850141 H 20 Rft pegis 8534451 H 10 AR =
8502141 H 60 kft pegis 8535441 H 10 AR =
85031 H 10 %A% PR 85361 H 10 %A% Tt
8504141 H 10 s A Byt 853711 H 10 AT FHE
850541 H 10 AR pegis 8538141 H 20 AR FHE
850641 H 60 7k fX PR 8539431 H 10 %A% Tt
850741 H 10 s AT LR 8540141 H 10 AT FHE
8508141 H 10 AR Byt 8541441 H 10 AR =
8509141 H 20 %ft pegis 8542141 H 40 AR =
851041 H 40 AR B 8543441 H 20 AR =
851141 H 10 %A% PR 854441 H 40 AR Tt
851241 H 20 Rft pegis 854541 H 30 %Ak =
851341 H 10 AR Byt 8546441 H 60 At =
85141 B 30 mkft Bk 85471 B 30 mEft Bk
8515441 H 10 s AT Byt 8548141 H 50 % fR =
8516441 H 40 AR pegis 854941 H 20 AR =
851741 H 50 ik ft pegis 8550141 H 70 AR FHE
8518441 H 80 kAt pegis 8551441 H 10 AR =
8519441 H 10 s AT B 8552141 H 40 AR =
8520141 H 50 ik ft Byt 8553141 H 50 % fR =
852141 H 10 s A Byt 8554451 H 40 AR FHE
8522141 H 50 kft pegis 855541 H 10 AR FHE
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8556451 H 70 AR 858951 H
8557141 H 10 s AT 8590141 H
8558141 H 10 A 859144 H
85595 H 10 7% AR 859215 H
85601 B 40 7R 85931 A
85611 B 80 #Eft 859431 A
856245 H 50 kAR 8595451 H
85631 B 20 At 85961 H
8564151 B 40 7R 859741l A
856541 H 80 At
8566141 H 70 AR
8567141 H 40 AR
8568141 H 20 %fX
8569141 H 70 mRfX
857041 H 40 AR
857141 H 20 %ft
857241 H 30 mRft
857341 H 20 %ft
857441 H 70 AR
8575441 H 80 kAt
8576141 H 90 AR
857711 H 20 %fX
8578141 H 40 AR
857941 H 40 AR
8580141 H 50 kft
8581141 H 50 ik ft
8582141 H 40 AR
8583441 H 20 Rft
8584141 H 40 AR
8585441 H 40 AR
8586141 H 60 kft
8587141 H 60 kft
8588141 H 10 AR
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(= REH%ES) 1H16H (H)~2H3H (K)
121 8044
(& %) 1H20H (R)~2H2H8 (k)
12U 2444
(& %) 1H16H (H)~2H2H (k)
13N 4244
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1H31H (A)~2H5H (+)




